
More Than, Less Than        Task A

Which Picture? 

There are 5 girls at the park. There 

are 2 more girls than boys at the park.

How many boys are at the park?

G

B

G

B

Which Picture? 

Kate has 4 sweets. 

Kate has 3 more sweets than Zara.

How many sweets does Zara have?

Kate

Zara

Kate

Zara

Which Picture? 

Harry has 4 stickers. 

Harry has one sticker less than Max.

How many stickers does Max have?

Harry

Max

Harry

Max

Which Picture? 

3 boys are sat at the table. There are 

2 fewer girls than boys sat at the table.

How many girls are sat at the table?

B

G

B

G
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Question: Finish the picture and answer:

Ben has 4 pens. 

Mo has 3 pens fewer than Ben. 

How many pens does Mo 

have?

Ben has 4 cups. 

Ben has 3 cups fewer than Mo. 

How many cups does Mo 

have?

Jen has 5 grapes. 

Jen has 2 more grapes than 

Amy. 

How many grapes does Amy 

have?
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Amy

Answer:

Question: Finish the picture and answer:

Ben has 4 pens. 

Mo has 3 pens fewer than Ben. 

How many pens does Mo 

have?

Ben has 4 cups. 

Ben has 3 cups fewer than Mo. 

How many cups does Mo 

have?

Jen has 5 grapes. 

Jen has 2 more grapes than 

Amy. 

How many grapes does Amy 

have?

More Than, Less Than        Task B

Ben

Mo

Answer:

Ben

Mo

Answer:

Jen

Amy

Answer:



More Than, Less Than        Extend

Kim has 6 pens. Eve has 2 more pens than Kim. 

How many pens does Eve have?

Which Answer?
It says more so add. 

6 + 2 = 8
It says that Eve has 2 pens

Kim has 6 pencils. Kim has 2 more pencils than Eve. 

How many pencils does Eve have?

Which Answer?It says more so add. 

6 + 2 = 8

Kim has more so subtract.

6 – 2 = 4
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